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1.   

 
  

 

     

6 60 294 150 240 

 
2.  ABCDA1B1C1D1

ABC.  
 

 AB 
 AC 
 B1D 
 B1C1 
 A1C1 

 
3.   = . 
 

     

  5 1,5 6   

 
4.  m n   

,  +  +  = 23   
 
 
 

     

120  50  145  130  140  

 
5. 33 2 36  = 
 

     

72 6  12 42 36 

m 

n  
 

 

A 

B C 

D 

A1 

B1 C1 

D1 



44https://t.me/abitmath https://t.me/abitblog

6.
16 2.

96 2 144 2 48 2 36 2 72 2

7.
y = (x 1)2?

I II
I, II III
I II
I, II IV

8.
?

135 147,5 145 157,5 162,5 

9. ABCD. 

I. A = C.
II. AB + BC = CD + AD. 
III. AC = BD.

I I I II I III I III

10.
2 9 0,

12 .
16

x

x

( 4; + ) ( 4; 3] ( 4; 3] [3; + ) [ 3; + )

A

B C

D

x

y

III

III IV
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11. ABCD. 
K AD. 

, CK = 15, KD = 12, ABK = .  
 

 42 +  

 42 + 18 cos  
 42 + 18 tg  

 42 +  

 42 + 18 sin  
 

 
 
12. cos 2   cos2  = 
 

     

 sin 2   sin2  sin 2  sin2  0 

 

 
 
13. an) a1 = 16,5, d = 1,5. 

  
 

     

10 11 12 13 14 

 

 
 
14.   : (2x + 2y). 

 

     

   2(x + y)2 2     

 

 
 
15.  (x + 1)   3 = 1. 

 

     

( 1; 0] (0; 1] (1; 7] (7; 9] (9; + ) 
 

A 

B 

D K 12 

15  

C
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16.  (1 - 

 .  
 

 

1 log  1 

2 sin 
6

 

3 3  4 
 

 

  

  

  

  

  

 
17.  = f (x), 

[ 4; 5]

 
     

 
 
 

 

 

1  

2  
 

3    
  y =  x  

 

 

 ( 4; 2]. 

 ( 2; 0]. 

 (0; 1]. 

 (1; 3]. 

 (3; 5]. 

 

18.  ABCD, 

144 2 K M  BC CD  
.    (1 3)    

    
 

 

1  

2 KM 

3 A 

KMC 
 

 

 6  

 6   

 12  

 8   

 9   

      
1      
2      
3      

            
 

           

            

            

    
 

       

            

            

            
            

      
1      
2      
3      

      
1      
2      
3      

A 

B C 

D 

K 

M 

y 

x 0 1 

1 

4 5 

 = f (x) 
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.

19. 2

3

9 ,
( ) =

5 4 ,

x
x x

x x x
f f ( 2) + f (2).

20.
ABCDA1B1C1D1 ABCD, (5; 2; 0), D( 3; 8; 0).

B AD
K(0; 0; 8) 

A1B1C1D1. 

21. 9

22. a ( 3; 8)

2 8 2x a x
x

= 0 .
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1  

2  

3  

4  

5  

6  

7  

8  

9  

10  

11  

12  

13  

14  

15  

16 1 ; 2  

17 1 ; 2 ; 3  

18 1 ; 2 ; 3  

19 61,75 

20 400 

21 11 

22 9 

 
 
 
 
 


